Shaft Model Information

Interstitial Velocity:   


Velocity of H2

= 0.35 void fraction
Gg = 0.005 gmoles*s-1*cm-2  

Superficial mole flux
T = 1000 K
Ggi = Gg/e =0.00175 gmoles*s-1*cm-2  
Interstitial mole flux
PV = nRT

dn/dt=Area*Ggi=Area*Gg/


Total Mole rate

dV/dt = RT/P * dn/dt  


Vol rate
dV/dt = Vel*Area
Vel = (dV/dt)/Area  


Gas velocity
Vel = RT*(dn/dt)/(P*Area)      
Vel = RT*(Area*Gg/)/(P*Area) 
Vel = RT*(Gg/)/P



Gas velocity (interstitial)
Vel =(82.03x1000)(0.0143)/1 =144 cm/sec

Unit check: (cm3*atm)K/(K*gfw)*(gfw)/(s*cm2)/atm [=]cm/sec

